



이름: _____

날짜: _____ 점수: _____

$$(2 - \frac{3}{5})^2 + \frac{1}{6} \times 4^2 \times \frac{1}{5} =$$

$$((\frac{1}{2})^2 - \frac{1}{2}) \times \frac{3}{4} + (\frac{1}{3} - \frac{1}{2})^2 =$$

$$(\frac{2}{3} + \frac{1}{2})^2 + \frac{1}{5}(\frac{1}{3} - (\frac{2}{5})^2) =$$

$$(2 + \frac{3}{4})^2 - \frac{3}{2} + \frac{1}{2} \times 3^2 =$$

$$((\frac{1}{3})^2 + \frac{1}{5}) \times \frac{3}{4} + (\frac{1}{5} - \frac{1}{3})^2 =$$

$$(4 + \frac{1}{3})^2 - \frac{1}{5} + 2^2 + \frac{1}{2} =$$

$$(3 - \frac{1}{2})^2 + \frac{3}{5} - 2^2 + \frac{2}{5} =$$

$$(5 + \frac{1}{3})^2 - \frac{1}{3} - 4^2 - \frac{2}{5} =$$

$$(5 + \frac{1}{3})^2 + \frac{1}{2} + 4^2 - \frac{1}{2} =$$

$$(\frac{1}{3} + (\frac{1}{2})^2) \times \frac{3}{4} + (\frac{1}{3} - \frac{3}{5})^2 =$$



이름: _____

날짜: _____ 점수: _____

$$(2 - \frac{3}{5})^2 + \frac{1}{6} \times 4^2 \times \frac{1}{5} = \frac{187}{75} = 2\frac{37}{75}$$

$$((\frac{1}{2})^2 - \frac{1}{2}) \times \frac{3}{4} + (\frac{1}{3} - \frac{1}{2})^2 = (-\frac{23}{144})$$

$$(\frac{2}{3} + \frac{1}{2})^2 + \frac{1}{5}(\frac{1}{3} - (\frac{2}{5})^2) = \frac{6281}{4500} = 1\frac{1781}{4500}$$

$$(2 + \frac{3}{4})^2 - \frac{3}{2} + \frac{1}{2} \times 3^2 = \frac{169}{16} = 10\frac{9}{16}$$

$$((\frac{1}{3})^2 + \frac{1}{5}) \times \frac{3}{4} + (\frac{1}{5} - \frac{1}{3})^2 = \frac{113}{450}$$

$$(4 + \frac{1}{3})^2 - \frac{1}{5} + 2^2 + \frac{1}{2} = \frac{2077}{90} = 23\frac{7}{90}$$

$$(3 - \frac{1}{2})^2 + \frac{3}{5} - 2^2 + \frac{2}{5} = \frac{13}{4} = 3\frac{1}{4}$$

$$(5 + \frac{1}{3})^2 - \frac{1}{3} - 4^2 - \frac{2}{5} = \frac{527}{45} = 11\frac{32}{45}$$

$$(5 + \frac{1}{3})^2 + \frac{1}{2} + 4^2 - \frac{1}{2} = \frac{400}{9} = 44\frac{4}{9}$$

$$(\frac{1}{3} + (\frac{1}{2})^2) \times \frac{3}{4} + (\frac{1}{3} - \frac{3}{5})^2 = \frac{1831}{3600}$$